
���������	
����

�	���� (3) �����������

�
���
 1
��� 1 � 3 �	
���
��
�����
������������������� ��!�"!�������!�����#$%&�'�(��
(� 
1.  

X 1 2 4 6 7 10 11 13 
Y 2 3 5 4 6 8 9 10 
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2.  
X 0 2 3 5 6 8 9 10 
Y 4.25 3.270 2.045 �1.875 � 4.570 � 11.43 � 15.595 1.80 
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3.  
X 0 1 2 3 5 6 7 8
Y 0.50 1 2 4 16 32 64 128 
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4. ?�������������� ��!�"!�������!�����#�@� Y = 0.4X + 1.8  �#�����
�C�� (��;�� #@�����9�$��)
������ ��� �. ?��;��!  �
�	 �@&��$��7� X = 2.50  �	6�� Y = 0.4(2.50) + 1.8  =  2.80 
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�	 �@&��$��7� X = 1.40  �	6�� Y = 0.4(1.40) + 1.8  =  2.36 
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X 1 2 3 5 6 7 8 10 
Y 2 3 4 5 7 8 9 10 
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iX = 1 + 2 + 3 + 5 + 6 + 7 + 8 + 10   =   42,  ∑
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iY = 2 + 3 + 4 + 5 + 7 + 8 + 9 + 10  =  48 
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= (1)(2) + (2)(3) + (3)(4) + (5)(5) + (6)(7) + (7)(8) + (8)(9) + (10)(10) 

 = 2 + 5 + 12 + 25 + 42 + 56 + 72 + 100   =   314 
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iY = 4 + 9 + 16 + 25 + 49 + 64 + 81 + 100  =  348 
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42 =   48m + 8c       - - - - - - - - - -�
314 =   348m + 48c   - - - - - - - - - -�

� × 6;             252 =  288m + 48c    - - - - - - - - - -�
� ��; 62 =   60m 

 m = 1.03,  c  =  8
)03.1(4842− = � 0.93 
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������ �.P. 2544 �.P. 2540 
��8����$F� 50 40 
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I2544 =   %100
2540P
2544P ×∑
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= %1004535840
50401050 ×+++

+++

= %100128
150× = 117.18 �
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